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3. —x(2x-3y+3) =Ax’+Bxy+Cx€ W, ’d5 A, B, C)FA+B+C
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(—=x) X 2x + (=x) X (=3y) + (=x) x 3
= —2x + 3xy — 3x
LA+BHC=(-2)+3+(-3)=-2
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2y—[x— {3x+ 4y —|:|}] =-3x+T7yd o, |:|?_}°ﬂ dgre
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@® 5x+y @ -5x+2y ® -5x—2y
@Sx—y ® 5x-2y

B *
2y - {x—(3x+4y—|:|)} =-3x+ 7y
2y—(—2x—4y+\:|) = -3x+ Ty
2x+6y—|:|=—3x+7y
|:|=5x—y
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9. (+a)(x-3)=x*+bx+11 &, a+ b2 F2?
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(x+a)(x-3)=x*+(a-3)-3a=x>+bx+ 11
a-3=b,-3a=11
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a b
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:2a—2b:2x5—2x(—%)
=10+1=11
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3(=3x—y) = 4(2x - 5y)
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14. o2 A A+ B+ C 9 327
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(—4x3)4 x 2xy8 + (-2x2y)? = 8xCy
(—=4)Ax34 x 2xyB + 4xy? = 8xCy
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A x2+4=8 . A=2
XA x x+ x*t =xC
K xx+at=xC - C=3
y¥+y2=y . B=3

L A+B+C=24+3+3=38
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@ -3x2-Tx-5

@ —x>+10x-22

(F4)=3A-B
A, B 9] 3= didstd
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3(x?—2x+5)—(2x2+x-3)=x>—-Tx+ 18




